0000000 (000)1.00 1

19980414~

000000000

v19980513;14;18;19;21;26;0603;

10(H9 0 O D2);11(S62 O 0 D2);18(H2 0 0 3);23(H6 0 O 9);
24(H6 0 0 8);

gobobobooobbobooooboobod
000000000000 0o0o

cOODOODOODO

[1] (H6DODDODO QUQ O OOODD00000OQUD0000O0O0D s 000D0O0ODOOOOODODO A, B
ooooooooooogog

() AnNBOOD oO00OD0ODOODOOODOOO
(2) AUBDOODOOD o000 O0O0OODOOOOODOOODODOODOO

00000Q={1,2,3,45 00000000
[2] (H6O0OO 900 00000000¢0 QOOO00000000000AD ROOOOOO
00O00oO00ooooO

()C={¢YA)|AeA}0 QODOOOOOOOOOO
(2)c 000000 ¢sO0006[C]000000
(3) o[C] = {¢"'(A) |A€0[A]} 000000000 o[4]0 ADDDOOD ¢0O0D0D000O!

[3] H9ODOO BV)OOOOO (Q,F,x) 000000000 {Eplpmie.. 000002000
ol ) = i

0000000 00000000000000000000000000000@0 (9, F, 1) O
{E,} 00000000

[4] (S61 000 5)0u(Q) <cc 000000 (Q,F,,) 00000000000000 A0040
A0000000000O0000000 ADOOOOOOOOOOOOO

(1) 00000 sup{u(4) |Ac A} 00000000000 BeAOOODOODO
(2) (1) 000000 BOO ADODOOOOOOD ADDOO pwANBY)=0000000000

‘0000000000000 0000000D00000000000000000000000
! 00000000000000000000 #O0 o 0000D00000 Z0000000000 ¢[]O00000
0o[H]CcZOOOOO

>E,DE,D>---0000000000000000000 E;CEC---0000000

*{£,} 000000000 lim B, = (| E.0
n— o0
n=1

tAcFoOoOoOOO



0000000 (000)1.00 2

[5] (S61 00 IX)O

()00 RODDOOO
B={ACR|ADDOD A°0000OOO }

0 ROO,000500000000000
(2)AeB00000000000 u(A)=00A4°cB00000000000 uwA) =1000
O000(R,B,,) 0000000000000000O

[6] (HHODOOO C3)000 QOO0O0OD0 ADOODDAQOOD A°0000OO0OO0OOOOOO

AO0DDDOD A>A4000
1 (A°00000),
n(A) =
0 (0oo),
000000 (A4, 0000000000000 QO0000000000000000000
0000

[7] (H40OO BVDO(Q,F,P)00000%0004;,4y,---€F 00000000000

1 X 1

[8] HYODDOO DYOOOOO (Q,F k) 00000000 A={4,---,Ay}0 QOO0000
N

00000040007 0 ZAi:QDDDDDDDDDDDDD AOODO BOOOO
i=1

B<A < (VA€ A)3BeB; ACB

JooooQoououoooogo fDDDD
L) =Y (ingﬂx)) wA), Upd) =Y <supf(:c)> H(A)
AcA \TE AcA \TEA
do0dooooooooooo

(1fa) B<ADODO Li(B) < L;y(A) 00 Up(B) > Us(A)D
(b) 0000000 A, 80000 L(A) <Up(B)D
(2)0000000 BO0O00O0

sup{Ls(A) | AO0000DO } =sup{Lf(A)| A0 B<AODDOOOODODO }.

gbooooooobooooobon

[9] (S62 0000 D2)0gOOO QUOUODODOODO FO gOOOOOOO sOOOOwRO F
00000000000 00O0bODO0OO0 e>00 AeFOODOO0ODOg OO0 BO CcOhUOoOooO

RO0ODDODOOOO ¢0OOOOOODO

0000 (Q,Fp 0000 »(Q)=1000000000000000000000000000 p0O00OO
oooo

TA€EF




0000000 (000)1.00 3

BcAccCcOO ulC)—pB)<eOOODODODODODODODDOOOODOOODOOOOOO BOOO C
00000000o0ooooooooooooo?d

[10] H5> 0000 DNHO(Q,F,P)00000DDOO0OFODOOODD ¢gOOODODOOODOOO
0000000 FOO AODOOO e>000000P(AAD)<e0000 ¢OO DOOOO
DoooooooooAO0OOoOot gooott

[11] (H9 OOO g)oR OODOOOO oR 0 RODODOO0ODODOOO0O0OODOOODO Ty
(1=1,2) 0 JRODO0DO0ODO00000O0D0O0DO0DODODOOON0ONONDODO0ONOnd
0000000 I-00 ((=1,2)00000000000

Pmﬂz{o (ADDO000000000000),

c (ADDDDOODOOOO0).

Fmﬂz{o (ADDD0O00000000000),
1 (ADDD0OOOoooooon).

[12] (H30OD 2)0000 ACROOODO

o0 o
P(A) =inf{> |L||Ac | I, ,0OOODDOOOOOO },
n=1 n=1
0000|0000 J00D00000 I00000000 ([]=00000000000000
0ooo

() ACBCRODOOI'(A)<I(B) 000000000
(2){A,} 0 ROOODODOOOOOODODO
F( An> <Y T(4)
n=1 n=1

gboooooooo
3) QU ROODODODDODOUDODODOOOINQ)=0000000D000O

[13] (HOOODO 8)000 I=[e,b] 0000 |[|=b-ae0000AC[0,1]00000

o o
rA) =if{d ||| | DA ;00000 Y},
j=1 j=1

gboooooboooobgn

()I'D [0,1]0000000000000000000000
(2)000 F0O F, 0O

F={EC[0,1]|AC[0,1] 000 T(ENA)+T(ENA) =T(A)},
FL={EC0,1]|Ic[0,1]D000 000 T(ENI)+T(E°NI)=T(I)},

oooooo F=F, 00000000000

$000000000000000000000000000000000Q =N ={1,2,3,---}, F=2%¢=

{ACN|#A< o0, A3 1, 00O #A° < o0, A > 1}, N(A):ZZ_"DDDDDDDDDDDDDDDD
neA
A=1{1,3,5,7,--}€F,e=1/4>000000000000000000 BOOOODOOOODO
® F=¢[g)000000 GO FOOOOODODOOO
1 AAB=(A-B)U(B—-A)=(ANB°)U (BN A°.
U 0ppo0000000000000000000 ¢000000000 A0D000O0O0O0OO




0000000 (000)1.00 4

00000000 Icf0,1]0000 I()=/|0000000000000

[14] (H8ODOO 7)DAO ROOODOOOOOI;,j=1,2,---0000000cCcROO0O0O0Oa >0,
oo NDODOD

HS(A) = 1nf{z 111 | U 15 4, sup|f| < _}
7=1 7j=1
H*(A) = lim Hy(A)

doooogoogo |Ij|DDD IjDDDDDDD
(l)ADDDDDDDDDD a>ﬁ>0DDDDDD
N PHY(A) < HE(A)

0o0oooo
(2)I=100,110000a>10000H)=00000
3)a=10000H*)=10000
()0<a<10000HYI)=000000

gbooooboooboognooo

[15] (H6 OO0 10)0R?2 000000 BOOOOOOOOOOOOOOODO®2O

IMQ: UIDBIEI}
j=1
000 Z={(a,b]x(¢c,d] | —c0c <a<b< oo, —o0<ec<d< oo}, m((a,b] x(c,d]) = (b—a)(d—c)
000000000 A={(x,y) |22 +42 <1} 0000000000000000000000
gooooboboooooog

1nf{2m )| neN, UI DA, I el}.
j=1

[16]) (HOODODOO A3)0x 000 RODOOOOODOO0O0O0O

()RO0OOOO ADOOD 00 p(4)=000000000000000000000
RO0000 4; (i=1,23,--) 000000 00000000 pu(4)=0(G=12,3,---)0

oood p(UA =0000000 (1)Ooooooooooo

3)I=[0,1]000 ROODDODOODODOOODDOOOODOOO

o
Cz{xz}Zileﬂxn—IDDD3}

n=1
0000 0000000000 w(C)=00000000000O0O0 CcOODOOOOOOOO
DDI?)

20000 Q00000000 QUO0O00D0D000 QUO0O0D000000000 ¢ 000000000000
000 B(Q)LUOOooUoUoooooUooooUooo

3Q0gpooDOooD00 CcO000000«,=0000 200000000000000000000000000O00O
oobooooooooooooboooooOooooooooboooOooOooOobooOooboboOoooo




0000000 (000)1.00 5

1
[17] (860000 7)D600000<6< 500000000 1,64%---00000000000

o0 sooooooboog sooooooooooboboobooooooboboDbOoOoOoOoDOon 5:%
goooooooooooooooooooogooo

[18] (S63 000 6)ODROUDOOIOOOBO ROODOODOODODDOOODOODOODO (R,B)O0ODOO
pO000000b00o0bOboooooobbooboobooobooboom

() 000000000000000000000

(2)0000000000000000000

(3)0000000000000000000000 2eRO00 AcBOD000 u(A+z)=pu(A)
00000

gboooooboooboogn

(1) u([0,2)) =z p((0,1)) 0000 z>000000
() p00000000000O0O00O00M

[19] (S63 00000 IIB)Oux O (R,BMR)DODODONONONDD —co<a<b<ooOdOO0O
u([a,b) <|la—b 0000000000000

()000 zceRO0000 p({z})=00000
() (QDOO000QOIONDONDDOD

[20] (H200O0 3)0(Q,8,4)00000000000000000

(1)A, €B(n=123,--)0 A C Ay C A3 C---0000p(lim 4,) = lim u(4,) 000
n—o0 n—oo

Lopoooo

(2) A, €eB(n=1,2,3,---)0 A1 DAy D A3D---0000 p(Ad1)<ooOODOO ;L(nli_{gloAn):
ﬁ&ummmmmmmmmmm

(3)000Q=ROBOOOODOO0OO0O00O00OR(N) <ocOOO0D0DODOf(t) = pu((—o0,t])
(teR)00D00O0O0 f¢) 0 ROODODDDDODOODOOOOODOO0O0O0 e c ROODODO
p({e})=000000000000000

[21] (H6 OODO 8 B0 ROODODODODDOOOOOOOOOOODODO

()0000000000000 ¢00000¢CcBO0 ¢£8000000000

(2) (~00,a],a € R, 000000000 XOOOOOXOOOOO00O ¢0000 800000
oooooo

(3)p0 BOOOOOO0000000 p00000 F(z)=pu((—o0,2)) 00000000000
000000000

(4)p0 BOOOOOOOODOOOOw(0,1)=10000000000 FOOOOOOOOOOO

o0
[m]&mmmmgmmm[QHDDxDDDDDDDDx:}jg,me{QL%DDDD
k=1

M OopooDoOoOoOoODODOO0ODOOO0O0ODOOoOOOOD

5 A CcAyC---000 MnAn:LJAnDDDDDDDDA13A23~~DDD mnAn:()AnDDDDDD

n—oo n—oo
n=1 n=1



0000000 (000)1.00 6

00000 I=(0,1x(0,1] 00000 Iupea = (a,0] X (¢,d 0000000 a; € {0,1,2}

n
1
(k=1,---,n) 000000a=Y 2% p—0+--00000000000000
3 3n

n

7= {Ia,b,c,d | n e N, Q= Z
k=1

ag

1
g b=at g 0<e<d<y

0000Z00 Ipeq 000000 p(Iapeq) O

d—c n ag
, a=Y =00 a€{0,2} forallk=1,---,n,
M(Iaya-l-s%,c,d) = 2n =1 3
0, ooao,

0000000000000000 I00000000 BOOOO
o o0
p(B) = f{d_ (L)) | |J1; > B, I; €I}
j=1 j=1

000 wB)ODOOO00000 x0I000000000000000% 0000000000
00 u(4,) (j=1,---,5) 00000

(1)A1—{(w,y)€R2|0<x§%,0<y<1}
(2)A2—{(w,y)€R2|%<x§§,0<y<1}

(3) A3 = {(r,y) €R? |0 < < 5, 0<y < 1}
(®A4=H@w€Rﬂ0<x§1,§<y§§+%}

(5) As = {(z,y) eR? |0 <z <1, §+%gygmin{1,x+%}}

ooooooogog

[23] (S60 000 2)0(Q,B,,) 000000000QO00000 EDOOO

(x) OEABCNO u(N)=000 BeBO NeBOOOOOM

0000000000 A0000000EABOOOOOOOODODODEAB = (ENBC)U(BNE®)M
ooooo

(1) B0 ,000000000000
(2) EeB0000 (x) 0000000 BOOOOO
(xx) p(E) = pu(B)
0000000000 40 (»)00000000000000000
(3)r0 BOOODODODODODOOOOOOOOOOOOOOOOOOO0O

[24] (H2O0ODOOO0 VIDOp O ROOODDOOOOO0D000 e>00000 p((z—e,2+¢€) >0
0000 20000 FOOOO

() FOOODDOOOOOODOOOO

! poDU00D0000000000000000000D0000000000000000000000rO0O00
oobooooooooooooboooooooon



0000000 (Co0)1.00 7

(2) 000000V 000 FOOOOOOOOOOOOOOO

[25] (H6 OO 7)0R® (n>1)0000 EOODOOOOO0 0000 0< u(E)<oo000O
00000000 0<a<pu(E)0000D000 «0000w(K)=¢000000000 KCE
00000000000

[26] (S60 0000 10)0C C(0,1]00000000000% 0O0C' clo,1]00000000
00001 =[0,1/4], I} = [1/2,1], I}y = [0,1/16], I}, = [1/8,1/4], Ity = [1/2,5/8], I}, = [3/4,1]0
0000000 (iy,ig---,4) 000000 1000000000000 7, 000000
00000000000000000000000001,..;.0,1,..,,00000000000
G= U 4., .0=coooooooo0on

(1,82,i) k
()C'00000000 0000000000
(2)RO0ROO0O0O0000AD A(C)=C'"0000000000000000

(3)ROO0ROODOO ClOOODOOO fO f(C)=C'00000000000000000

[27] (H3OOO S)DB[OJ}DDD 0,]]0000000000pDOO00O0OOOO0ODOOOODOO
000000 A, BOOODO AABOOODO (A-B)u(B-A) OOOODDDOOO

(1) A,Be By, 000 w(AAB)=0000 A~BOOOOOOOOO ‘~’000000000
0 B =Byy/ ~00 d([4],[B]) = u(AAB) 00000000 4000000000000
[Aj00D000D0 ADDDOO0OO0OOOOOOOO0O0

(200000 (B,d)000YOODOOOoOoooo

(3) 0000 (B,d 0000000 ODDODODO

"O0oo z00000 p({e})=000000 0000000000 ROODODOOODOOOOOO0OOO0DOODOOD
goooOoOoOoCoOOO0O0OO0ODOO0O000000000000000O0COOCODOOO0BorelJ00000OO00OODOODOODO
goood

oS}

80 ={r= g—ZeHxn:ODDD 2}

n=1
Y 0000000000000 D00000000000000000000



